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2788 | ES AT |—/IEE KK )1 T —FF/\EM 98108 =L |FRAEDS. AIEAERREL
m 0.13 0.10 0.12
N 50cm | 0.2 0.09 0.12 i ) L
2789 | EZA™ |HLOR(KABEEBEVOR) |L)IESEAFTAR 98108 ’ o1 00 012 REE  |(FRAEOLD. IERAEEREL
= I B PO 50 010 0.10 0.11 ] i
2790 | B A [ESATHEDFLYE— BEMMIIERON | og 05| HE1  [FREEOLS. IEREREEL
RESE z m 0.10 0.10 0.12
B 50cm | 0.12 0.10 0.13 ) L
2791| BE AT |[REARSE WIN=EFREZ A12A o o o MHE | FREEOLSD. MEHERREL
= 50 0.15 0.13 0.16
2792 | ES A [MBARE SNMEERETR og1m NE  |HREEORD. ERERREL
2 m 0.16 0.15 0.16
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